{/\,u\" 5°\A~HQ NS
Assian

2
L5, W0\, 2y, 2
14 - h

Sec oA

[N \\NW
5 X‘\'\ \
A*
\




€
- ‘Q<E - \) - e (\" (l’im) - “‘“*‘ﬂ) sl (@) - a (o) = \n(%)

[ = (2w

- Vs S
J’j u &\A ;— ‘/_1 ] C

a2
vaddcel v ob bheo lio(m oxX rbhx vC

\q) S d x
I xr Ax+H
Vu.\—b o spUere

= Comn

- J’______é.f_/ - J d% — led U~ Xy 2
IX’L\—QX\’U\ 'V\ \‘ (\A\,j\\l_\,\ d)*' c\)k
L (- R(‘m

Viow redice\ 1 oF

du
uz v )(l + Q’L = +Y\¢) sub ov ko

W= O\\'C\n(_\') = ’\;un(i’)

: § s’ (1) At et
SQ.Q(,“’) = lu"*.\,\ = 5¢C (t)
= g sec k) dt s
do = gsec (1) dt

S e secnr teatn | 2 C



3 -
O = \r\ \ seclt) + fen (\')\ ¥ C U\ ten=
) -
f)QC“’\ = \Ju"‘;.\ I ten ({’) = U \
:\n\—&uak\—PU\*Q iuf)(*;)
=\n\.|(x\,9\\2¥\ + X4 él\kC
2)
\ ym: dx = j ’(*/\1\"'\%’5\ dx
([ rviers -8) s [[a Goa o
@ wexed TR
du= dx
VAQ\\CQ\ i OQ 1|7 ‘:%IN\ 0\1/ Ul 2 [0 - 3 IL" W= O\ S'A (f\
we 55\\0(‘{’)

=) \io\- L\l = SCQS (’r) dw = 3 (o5 (H dt

= j(gws(n\ (5 ¢os (4) c\t) = ‘15-@51 (F) 4+

Cusl('\’\= D’__E’f.gf_ﬁ - O\S\;{* 'ECoﬁ (2{'3 dt
R

a q
. ?S'c.\)(. 4 3)‘@0«,(:&) 4t

°EE°$W

ﬁc\jacu\\,



a a ..
Y 4 m sia (at) + C
W 2 SN ({’\ ) douwb\ (l('\%\l\.« V\:rﬂ\m\,«-
/ sin (1) < 5in (24) = sin (F) oo (F)
7 -1
s £=%\n (%)
“ o) = A9-ut
3
9 a
- T ’t t —,_T S\ (‘I’) (oS (H + Q
S (w 2w A-u’
2 S\a (‘é’\ % I_\ (E—\>( S > . C
q - |
= E_S\f\ <>(+3&> t -—L*—u,’q_ua ¢ C
q
:i—;s\f\ (7(\"15‘\--—(*\,9\3\&; (xr2)? v C 2
o ( dx
o+ bx - J (X Gx - 1L) \r (x~Lx+9 - %)
: f = u= x-3
125 - (x-23)" du= Ay
J‘ du U= 5 sin ()
las - u? du= S k) At
25 -u> = Hecos )



]

sin(4) = —= = sin \F

SQC\'ﬂo 2}

5 cos () n
3 - at - N
O cos (e) 't C

U

ety ) e

)

q»g : L 5’ ‘L_\l Q':y', 30;"'\\
<t X (x+ 1) < o
L) dx 1= Alxs\) ¥ B X
X4\
X=0 = \ = A
. 1 X= -\ = | = B(,\) - 6:'\
b [X*\ A\'(
S
X()L'\’\\- x X,*'\
= \n x| - \noxt] +C
[ - 1
AL+ VL
-\ A =
. i S o XA
"y 3¢ —H % x 3= (x»tﬂ(ﬁ—\\
X 4 -
L=\ = A (x-\) ¥ 2 (xy4)
=1 = -yn = B(%)
-\0o= 5B H B=-4
Kz -4 2 _y-w= A9
'\‘57’5A = A= 3
-\ 3 R



2
- S S o
AxH *—\

= | 3\A \ x| - 2| k) x CJ

l"\) j '.]-xa)(f;*/%

d %
(%-\) (5*&2\(#3}
Tx>y Q- 3 _ _ﬁ___._ ) 3 ) C
(2%'\\(?»&»2\ (x’33 AR =\ 3% ¥ 2 X -3

=> 7'7(14, 2 % —5 = P\(?))(’r:’\) (7&'5) X ?)k/)\*’\\()(—f))—\—C_(Zl;kz\)(%)k&?)
A= D 3(3)x 2(2-3 = C(S)(\\\

L, = 55 C = c,—_},;:
)(:’\5: = q(%\lk Q(%—)’?J = A(%‘—é’-\-&)(ﬁ’3>
Tor-s = AR
A O A
2 (27 a(2) -3 B0 (E 2
- - q
22 e (g-3)(% -3
'_’i,_ _ B
S 3 (E)N) - s
B
. \Y /35 ) ’\/3}- AX*_ (p/b .
Ax =\ AAYF A X -3
TR Y & vz DAY 2
du = 224 dN-34d4



= -\ - =
%\m\ﬁx \\ ;\\n\%)(*Q\ + é%"\n\x..\?)) +y C

3 2,y - c
a%) j;zx A% - 08 . ng x A~ D

- - o dx
X2y x(x‘,,q)
axTrx -8 A BAC

y\ky\"){u\\ * )(2*\'\

o AA AT B = D (x2r1) + X (B2 ¥C)
L= 0 ) -8 = A(L\) A”’;Z
- S ~alxmeH) b B G

L BTy Cx = 4+ %

2 B’L{/ C-=|
= A% +7(—8: -2 N oy
% (x> A A*v
N A
Rl e O vl
x>+ H LA
W= Ry ’\ijfm’\(ti\ b rn
= - An \*\ dun = AL A%
AP PR 1[—%*— %%m"(é\ + C

f[zian\+2wwxﬂﬂ-+%%¢“®ﬂ*ﬁ(




3O> \ ) \ Iy . ’_/\_,,___—:—*“’:—\A
J e ((?TJC:\ * Smw L

r D
[ s W - S o S
¥-\e X+

X-2 ' A H
o A (x-2) (x*ea) + B (xr2) (X)) ¥ (Cx +D\ % 2)(%-2)
a2 = 1= (D(H) = B /32

-2 = = A(a)(8) = K- /a3
X0 = \ = =

-2 () S (2 D () (-2)

\
= g+ g -4p 2 4D = 3

\

V= "%
(-1 = | = _;,‘5\(,\3(5) . /3‘—2(3)(5) v (Co :(;—)(37(—\)
5 LA S
" %——{ ! 2 A 3C # 3
V= 22, 1A

JENEN _ S\ - 30
32 32 3C = |

w

®



,._(_——/ = 4%

N D

o A ; .

. K o
\/(\—\ﬂ \ h ‘ \
Y L-y \ S 5 ‘
/ I Y - v

-\

4+
\I \’_\ Aj = J‘é‘k

B
I T+ C
\.j'\ € - CQ..‘t
ylo)y = = =) />
T Ce =C
e




Seckion 1.6 138,10

\) -BA
X e d+ W sabshieHon  will fed\
J
s ?“—’AJ"‘U' of ‘Q‘AWQHQ,\S =y '\r\\'ujfcﬁov\
VDN dy=@ &% by perts
A = d & g= L TB%
5 &

5
-\ “5K \ \ - B X
_ |-y -5 \ “5A

o TR l
- ze [(xrE)

Y
In (%)
2 Ny '
) f )( d% f:[\n(M] - ’;— 5ty culbshtur e n
\
U= In) %=\ = u= W)= 0
ln(:.\
A éu\ = \ 2
f {3“ l
o (o]

. ‘/\m(gyl_ L) - E‘;(\m(q)l




1 C
qy J " m d% | |3r\9.c\( rc—AiCC.\ pbfm
’ Gz A X ra

(_)\1'; S ¥ = Y= Mm'l
Au du = d A X=-0 = W= L
ﬁ X= 5 &2 W= +
S NTSRINCIEY
2 G
; 1 2 5 4 3
. - |=u - 3Z3Vu
= YCQU‘L\' Ha )du\ = {g \ 3 -
{2
>/ CN N SN O
275 - (274 @
;'41 '/ 4.7% ' ._2;81 s LQ V/a
T (:') - 2 (}3 -5 <2) - 3 CQ)
= -
_ 2‘3*}1—- 4. 1+.5 \j— - 23,3 _ gs.g J:)\
K] IS
\ - 10 8(2-5)
_ \L\(z ) & - __L____ I
15 \S
= Eﬁ;<’+?ﬁ ¥ BE>
L\
‘D) S\ ““’\"'__ At Ve vedice\
t- Doy G =3 > u-{L
= =\
) - ’ u> k¢\a\~au$f§
>_ = 2
& du IV a
Y [CS | 0 4w = AE
© @

Adu= db



/d (\/U\ ljé _—-_C\A_A/ B {i A A
L - - o -\ u-
/‘O‘& :’U\ w I S E
8 (@]
du ro
8 § o-a T Qi\m \wl\}
' (v

:B\n \r'Q\ -\ \W‘l\>)




